
Regression test

Test run started 2023-06-24T22:05:04Z

Ashes version: 3.20.0

Comparing with external results

Tower shadow Powles

Load case set 1

Load case Time series Error score Result
No shadow Root force (magnitude) 0.000163 PASS

Root moment (magnitude) 0.000033 PASS

Local wind speed 0.000000 PASS

Tower shadow Root force (magnitude) 0.000004 PASS

Root moment (magnitude) 0.000369 PASS

Local wind speed 0.000082 PASS

Tower shadow cd = 0.67 Root force (magnitude) 0.000048 PASS

Root moment (magnitude) 0.000171 PASS

Local wind speed 0.000036 PASS

Tower shadow azimuth 5 deg Root force (magnitude) 0.000017 PASS

Root moment (magnitude) 0.000182 PASS

Local wind speed 0.000009 PASS
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Load case: Tower shadow
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Local wind speed
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Load case: Tower shadow cd = 0.67
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Root moment (magnitude)
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Load case: Tower shadow azimuth 5 deg
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Local wind speed
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